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Épreuve du 1er groupe 

 
ANSWER  KEY 

 

I. TEXT COMPREHENSION (10 marks) 
 

A) Table Completion (02 marks) 

1. Reality   2. Possibility     3. Possibility    4. Reality 

 

B) Problem Itemization (03 marks) 

5. CCS is energy-intensive;  6. There are concerns about the long-term safety of storing 
pressurised CO2 deep underground;  7. CCS raises expense and energy intensity issues;  8. 
CCS provides an excuse to carry on burning fossil fuels;  9. CCS caused the climate crisis in the 
first place;  10. CCS is also a non-circular process (or The pressurised CO2 is, at best, stored 
underground indefinitely). The grader shall ensure that the quoted passages are complete and concise. 

 
 
C) Matching (02 marks) 

11. b)    12. e)    13. d)    14. a) 
 
 
D) French-English Equivalents (03 marks) 

15. hard-access locations;  16. it’s of no use to anyone;  17. does not require any 
transportation or storage 

 
 

II. LINGUISTIC and COMMUNICATIVE COMPETENCE (06 marks) 

E) Word Derivation Cloze Test (02 marks) 

18. originate         19. capturing    20. proclaims/proclaimed    21. collective  
 

F) Legend Completion (02 marks) 

22. Carbon Dioxide Removal;   23. Carbon Capture;  24. Utilization;  25. Storage 
 
G) Phrase Unscrambling (02 marks) 

26. It is essential for photosynthesis in plants and is a significant greenhouse gas.   
27. While it is naturally present in the atmosphere, human activities have drastically increased its 
concentration. 

 
 

III. WRITING (04 marks) 

Please, grade this section according to the following scheme. 

Relevance of ideas    02 marks  
Coherence    01 mark  
Language Use   01 mark 


